

| | | | Vendor Ranking | | Page 1 of 1 |
|----------------|-------------|--------------------------|------------------|-------------|-----------------|
| Letting: | 05211005 | October 05, 2021 2:00 PM | Call Order: 002 | Contract: | E57A3 |
| District: | District 5 | | Counties: MARION | Fed Aid No | : N/A |
| Contract Time: | 60 AVAILAE | BLE DAYS | | Project(s): | 41125655201 (*) |
| Contract Desc: | SR 35 (US 3 | 301) | | | |

| Ran | k Vendor | Bid Type | Bid Status | Total Bid | Percent Of Low Bid |
|-----|---------------------------------|------------|-----------------|--------------|-----------------------|
| 1 | CONCEPT CONSTRUCTION AND DEMOLI | Responsive | Winning bid | \$245,824.33 | 100.00% |
| 2 | EARTHSCAPES UNLIMITED INC. | Responsive | Non-Winning Bid | \$297,371.20 | 120.97% |
| 3 | MAER HOMES, LLC | Responsive | Non-Winning Bid | \$311,115.22 | 126.56% |
| 4 | MONTALVO MEJIA CONSTRUCTION LLC | Responsive | Non-Winning Bid | \$478,477.43 | 194.64% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



| Page 1 of 8 |
|-------------|
| |
| |
| |
| |
| |

The Improvements under this Contract consist of the re-construction of the Dallas Pond on SR 35 (US 301).

This project is reserved for Business Development Initiative Bidding.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdiprojects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

| Line No / Item ID Alternate | Quantity Units | | CONSTRUCTION(2) EARTHSCAPESDEMOLIUNLIMITED INC. | | | (3) MAER HOMES, LLC | |
|--------------------------------------|-------------------|------------|---|------------|------------|---------------------|------------|
| () indicates item is bid as Lump Sum | • · · · · · | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |



Tabulation of Bids

Page 2 of 8

| Letting: 05211005 Oc | tober 05, 20 | 21 Ca l | l Order: 002 | | Contract: | E57A3 | |
|---|--------------------|--------------------------|--------------|----------------------|------------|--------------|------------|
| Line No / Item ID Alternate Item Description | Quantity Units | (1) CONCEPT CO AND DE | | (2) EARTH UNLIMIT | | (3) MAER H | IOMES, LLC |
| () indicates item is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 Ro | adway | I | 1 | | 1 | | |
| 0005 0101 1 MOBILIZATION 41125655201 | (1.000) LS | 22,600.00000 | 22,600.00 | 79,870.90000 | 79,870.90 | 31,222.22000 | 31,222.22 |
| 0010 0102 1 | (60.000) | 15,000.00000 | 15,000.00 | 20,763.06000 | 20,763.06 | 9,000.00000 | 9,000.00 |
| MAINTENANCE OF TRAFFIC 41125655201 | DA (LS) | | | | | | |
| 0015 0102 60 WORK ZONE SIGN | 840.000 ED | 0.35000 | 294.00 | 0.40000 | 336.00 | 1.00000 | 840.00 |
| 0000 0400 74 4 | 0.40,000 | 0.05000 | 040.00 | 0.00000 | 0.40.00 | 0.00000 | 4 000 00 |
| 0020 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, D VP, DRUM, OR LCD | 840.000 I, ED | 0.25000 | 210.00 | 0.29000 | 243.60 | 2.00000 | 1,680.00 |
| 0025 0104 10 3 SEDIMENT BARRIER | 1,044.000 LF | 0.25000 | 261.00 | 2.75000 | 2,871.00 | 4.00000 | 4,176.00 |
| 0030 0104 12 STAKED TURBIDITY BARRIER- NYLON REINFORCED PVC | 159.000 I LF | 4.00000 | 636.00 | 23.66000 | 3,761.94 | 12.00000 | 1,908.00 |
| 0035 0104 15 SOIL TRACKING PREVENTION DEVICE | 1.000 E EA | 500.00000 | 500.00 | 3,875.00000 | 3,875.00 | 3,800.00000 | 3,800.00 |
| 0040 0104 18 INLET PROTECTION SYSTEM | 2.000 EA | 50.00000 | 100.00 | 125.00000 | 250.00 | 1,000.00000 | 2,000.00 |
| 0045 0110 1 1 CLEARING & GRUBBING 41125655201 | (2.200) AC (LS) | 70,886.55000 | 70,886.55 | 31,750.00000 | 31,750.00 | 20,000.00000 | 20,000.00 |



Tabulation of Bids

Page 3 of 8

| Letting: 05 | 211005 (| October 05, 20 | 21 Ca l | l Order: 002 | | Contract: | E57A3 | |
|---|---------------|-------------------|--------------------------|--------------|----------------------|------------|--------------|------------|
| Line No / Item ID Item Description | Alternate | Quantity Units | (1) CONCEPT CO AND DE | | (2) EARTH UNLIMIT | | (3) MAER H | OMES, LLC |
| () indicates item is bid | l as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: | 0001 | Roadway | | | | | | |
| 0050 0120 1 REGULAR EXCAVATIO | N | 3,794.000 CY | 4.00000 | 15,176.00 | 12.00000 | 45,528.00 | 18.00000 | 68,292.00 |
| 0055 0120 6 EMBANKMENT | | 2,808.000 CY | 4.00000 | 11,232.00 | 8.00000 | 22,464.00 | 22.00000 | 61,776.00 |
| 0060 0425 1541 INLETS, DT BOT, TYPI | E D, <10' | 1.000 EA | 8,000.00000 | 8,000.00 | 6,999.46000 | 6,999.46 | 10,000.00000 | 10,000.00 |
| 0065 0425 1549 INLETS, DT BOT, TYPI | E D, MODIFY | 1.000 EA | 7,800.00000 | 7,800.00 | 5,375.35000 | 5,375.35 | 2,550.00000 | 2,550.00 |
| 0070 0425 1589 INLETS, DT BOT, TYPI | e H, Modify | 1.000 EA | 11,000.00000 | 11,000.00 | 7,530.31000 | 7,530.31 | 2,550.00000 | 2,550.00 |
| 0075 0430175118 PIPE CULVERT,OPTIC MATERIAL,ROUND, 18 | | 502.000 LF | 114.64000 | 57,549.28 | 69.67000 | 34,974.34 | 95.00000 | 47,690.00 |
| 0080 0430984125 MITERED END SECTIC ROUND, 18" SD | ON, OPTIONAL | 1.000 _ EA | 1,500.00000 | 1,500.00 | 3,185.00000 | 3,185.00 | 1,500.00000 | 1,500.00 |
| 0085 0570 1 2 PERFORMANCE TURF | F, SOD | 5,862.000 SY | 2.25000 | 13,189.50 | 3.02000 | 17,703.24 | 5.50000 | 32,241.00 |
| 0090 0999 25 INITIAL CONTINGENC NOT BID 41125655201 | | (1.000) O LS | 9,890.00000 | 9,890.00 | 9,890.00000 | 9,890.00 | 9,890.00000 | 9,890.00 |



| Tabulation of | f Bids |
|---------------|--------|
| | |

Page 4 of 8

| Letting: | 05211005 | October 05, 20 |)21 C a | all Order: 002 | | Contract: | E57A3 | |
|--------------------------------|---------------------|----------------------------|----------------|------------------------|------------|---------------------|------------|--------------|
| Line No / Iter Item Descrip | | ate Quantity Units | 1 · · | CONSTRUCTION DEMOLI | • • | HSCAPES TED INC. | (3) MAER | HOMES, LLC |
| () indicates ite | m is bid as Lump Su | m | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECT | | Roadway Section Totals: | | \$245,824.33 | | \$297,371.20 | | \$311,115.22 |
| | Contract | Grand Totals: | | \$245,824.33 | | \$297,371.20 | | 311,115.22 |



Tabulation of Bids

Page 5 of 8

| Letting: 05211005 Oc | tober 05, 202 ⁻ | 1 Cal | l Order: 002 | | Contract: | E57A3 | |
|---|----------------------------|------------------------|--------------|------------|------------|------------|------------|
| Line No / Item ID Alternate Item Description | Quantity Units | (4) MONTAL CONSTRUC | VO MEJIA | | | | |
| () indicates item is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 Ro | adway | | 1 | | | | |
| 0005 0101 1 MOBILIZATION 41125655201 | (1.000) LS | 41,000.00000 | 41,000.00 | | | | |
| 0010 0102 1 MAINTENANCE OF TRAFFIC 41125655201 | (60.000) DA (LS) | 7,469.87000 | 7,469.87 | | | | |
| 0015 0102 60 WORK ZONE SIGN | 840.000 ED | 0.34000 | 285.60 | | | | |
| 0020 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, D VP, DRUM, OR LCD | 840.000 N, ED | 0.24000 | 201.60 | | | | |
| 0025 0104 10 3 SEDIMENT BARRIER | 1,044.000 LF | 3.44000 | 3,591.36 | | | | |
| 0030 0104 12 STAKED TURBIDITY BARRIER- NYLON REINFORCED PVC | 159.000 I LF | 6.00000 | 954.00 | | | | |
| 0035 0104 15 SOIL TRACKING PREVENTION DEVICE | 1.000 E EA | 8,500.00000 | 8,500.00 | | | | |
| 0040 0104 18 INLET PROTECTION SYSTEM | 2.000 EA | 220.00000 | 440.00 | | | | |
| 0045 0110 1 1 CLEARING & GRUBBING 41125655201 | (2.200) AC (LS) | 15,000.00000 | 15,000.00 | | | | |



Tabulation of Bids

Page 6 of 8

| Letting: 05211005 C | October 05, 202 | 1 Cal | l Order: 002 | | Contract: | E57A3 | |
|---|-------------------|------------------------|--------------|------------|------------|------------|------------|
| Line No / Item ID Alternate Item Description | Quantity Units | (4) MONTAL CONSTRUC | | | | | |
| () indicates item is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 | Roadway | | | | | | |
| 0050 0120 1 REGULAR EXCAVATION | 3,794.000 CY | 49.18000 | 186,588.92 | | | | |
| 0055 0120 6 EMBANKMENT | 2,808.000 CY | 38.77000 | 108,866.16 | | | | |
| 0060 0425 1541 INLETS, DT BOT, TYPE D, <10' | 1.000 EA | 12,000.00000 | 12,000.00 | | | | |
| 0065 0425 1549 INLETS, DT BOT, TYPE D, MODIFY | 1.000 EA | 12,500.00000 | 12,500.00 | | | | |
| 0070 0425 1589 INLETS, DT BOT, TYPE H, MODIFY | 1.000 EA | 14,000.00000 | 14,000.00 | | | | |
| 0075 0430175118 PIPE CULVERT,OPTIONAL MATERIAL,ROUND, 18"S/CD | 502.000 LF | 61.96000 | 31,103.92 | | | | |
| 0080 0430984125 MITERED END SECTION, OPTIONAL ROUND, 18" SD | 1.000 EA | 8,500.00000 | 8,500.00 | | | | |
| 0085 0570 1 2 PERFORMANCE TURF, SOD | 5,862.000 SY | 3.00000 | 17,586.00 | | | | |
| 0090 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 41125655201 | (1.000) D LS | 9,890.00000 | 9,890.00 | | | | |

| FDOT | |
|------|--|
| | |

Tabulation of Bids

Page 7 of 8

| Letting: | 05211005 | October 05, 20 | 21 C a | all Order: 002 | | Contract: | E57A3 | |
|---------------------------------|--------------------|----------------------|---------------|--------------------------|------------|------------|------------|------------|
| Line No / Item Item Descript | | te Quantity Units | · · / | ALVO MEJIA JCTION LLC | | | | |
| • | is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTIO | DN: 0001 | Roadway | | | | | | |
| | 0001 Roadway | Section Totals: | | \$478,477.43 | | | | |
| | | | | | | | | |

Contract Grand Totals:

\$478,477.43



Page 8 of 8

| Letting: | 05211005 | October 05, 2021 | Call Order: 002 | Contract: E57A3 |
|----------|--|------------------|-----------------|-----------------|
| | NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security | | | |

required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.